ggbbobuodobb ooobbodooon

1] 0000000000000 00000000000goooooooon
gbobobooodgoboo

(1)

d7r=e.dxr+e,dy+ e.dz

® B B B
V=£§%+e%@+e@;

(3)000000

2 R
DDDDDD(Q)DDDDDDDDDDD
[2] DOOO
Fz—GmMr

r3
00000000000 00000000000ooooo0oOoooogin]o
(hoooooooooo
r.-dr=rdr

goboboboooogn

[3]00000000MOODRODDODDODDOOODOOODOOOmMOODODOOOO
gbooobooogn

[4]

() 00000000000000000000000000000000000
000000000000000000000

(2)000000000
(3)0000000000000000000000000()000000000
0000000000000000000000000000000000000
00000000000000000000

0000000 G=6.67x10""[Nm?/kg?l000000 6400(km) 000000
6.0 x 10%4[kg]0

[5) O0O0O00000000000000000000MOO000 RO0OO
000000000000000000000000r<RO00000000m
0000000000000000000000000000000000000
0000

() 0000000 0000000000

(2)00000000000



